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1" stated: Witnesses that claimed, our testimony was
concerning a trust document, they are not believed.

OVERVIEW

7Am1 27 maintains that if the q0wn >7v claim that 12927 7 73R or 1’7 IRy
11727, they are not believed (even with a 1»), and it is a w2 0Ww. This seems
to contradict our 71w»n which states that if 2>7v claim that they were o°10p
2°01XY when they signed the 7ww they are believed (with a 1an). This ruling
of 1"7 also contradicts a previously mentioned ruling of 1" that (even) a m>
is believed to claim 7°™11727 1222 ¥179; why are two 27V not believed with this
(same) 1n?! Our mdoIn will differentiate between these various claims.

moon first sets the parameters of s'1"7 ruling:
- 3379X AN DIPNN NEY DTS AN PRI THID Yy
You are compelled to say that we are discussing a case where their

handwriting is not released from elsewhere; we cannot authenticate this 0w

based on other signatures. These 0>7v themselves must authenticate their own signatures.
- S95yY 7099 *2n7 ‘NOYWS NN DP9 NN 07 2aNd INT

For if their >''n> is available from elsewhere; if we can be 0*pn this 0w
without their explicit testimony, then it is obvious that the 27V are not

believed to claim 12727 77 7anX for this is what the X723 asked previously.
Why would 1" find it necessary to teach us this ruling!

mooIn offers an additional proof that we are discussing a case where X"1pnn XX °"nd PX:
= 2550 119 N7 DIVN DIINNI PNT 6‘1)3Ni7 YUN 29 92 M7 I

! 71K means trust. The 0*7y (who are 0>»pn their own 7°nn) claim that the 777 trusted the 7% and gave him
the "vw for a (possible) future loan, which the 2>7v never saw take place.

* Xy71 means a notification of coercion. The o7¥ claim that the borrower or seller informed the o*7v that
they were being coerced into agreeing to this transaction. See ‘Thinking it over # 3.

? 1" is teaching that even though these 2>y have a q0Xw 715 (for they could claim it is not our handwriting),
nevertheless they are not believed.

* They have no 7oxw 75. They are contradicting a 2™» 7uw which is presumed not to be a 71X WY (in
addition to being 2 7> 2*1).

5 R,1°; where 27 & °"7 said that the claim of 71nX 70w is not acceptable. The X7 there asked, if the o>7v
stated this, then if X"pnn R¥1 2"n3 it is obvious they are not believed; there is no need to teach this ruling.

6 swx 27 72 7» disagrees with 1" concerning a XyTm 0w (since it is 2n2°2 1) and agrees with 1"
concerning a 7K VW that 0°1MK1 PX.
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And furthermore; >wX 29 92 9% maintains that the 2°7v are not believed
to claim 11127 177 710K, because a 71X VY is not permitted to be written;
it is an 75W.

mMooIn continues with his proof.

- 723N PRT NDIWD AN3Y 11193 159X TNN DIPHMA NYY 075 1193 IN)
And if we are discussing a case where 3''n2 is R'"y21»» X2y how can 27720
WX claim that the reason 2°11R81 X is because 2n3% 10°1 RY; it is not so, for
even if it is permitted to write a 712X W it is obvious that the o7y are
not believed to claim 17727 7 7nx.

mooIn asks; now that it is established that 1"9 is discussing a case where XX1 >"n> X
X"pnn there is a difficulty:

= )92 2319911 R ININT NYP
And there is a difficulty! Why are these 0°79 not believed, since they have

a M. They had the option of claiming that it is not our handwriting;® in which case the
M1 could not collect with it. Therefore we should also believe them now that %7 71K
11°727 or 11°727 1% Xy 71 and the M%7 should not be able to collect with this 0w.

mooIn anticipates a rebuttal to his question and rejects it. It is possible that 1"7 is of the
opinion (like n" [and 7"1])° that we cannot invalidate a 70w through a wa. Once we
know that a 9w is not 717, it is then deemed to be a 7w> 7ww. No claim can invalidate
it, regardless whether there is a 2 to substantiate the claim. According to this view once
the 27y admit that it is not a 77 WY they are not believed that it is a FIR\RYTIA.
Perhaps this is also the view of 1"7. m901n says that this is not true —

- 20YN NN 999 1 "985 1Y 1IN 79993 11N 29 NXNT

For 1'% himself previously maintains that a ¥ is effective to void a ww —
= N3%Y ININY 192590Y 11395 1957 1719 159N NPT 1P NN 23 9INPT

For 1" stated that when they come before us for a ruling we say to them
(the claimants with the 7vw), first go to authenticate the signatures on your

7 See footnote # 4. There is an advantage in this second proof (that the reason of *wX 27 72 72 would be
wrong) over the first proof (that it would be a Xt°wd). A RvWw> is not as troublesome as a wrong reason. On
the other hand there is a disadvantage in the second proof, because it is possible that *w& 17 72 7n is
discussing a different case than 1"9. It is not clear that X"= 72 7» is addressing his comments directly to 1.
See 7w 0"77n who states that 101N could have proven his point from the second statement of X"= 72 7
that 0°1mX111°727 17 AyTA. It is obvious that this is only in a situation of X"pnn Xx¥1° >"n3 PX.

¥ See w"x71 mooIN.

? R, 7. See there 771 7" 7 Xnvw 7"7 MBOMN.

0x,0.
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v to prevent the (71v0 or) 1 of 7™ and afterward go down to the

court case. The reason 1" required them to be o»pn the W is —
= 9991197 NN WD 91397 119NN

Because the M7 is believed to claim the loan was paid when he has a w» of

claiming 5", It is evident that even if the M claims ¥115, which implies that it is a
proper 10w, nevertheless since he has a 1an he is believed to claim ¥1719 and prevent the
mon from collecting with this qvw (without first being 0°°pn the W) —

- (1P NIn3 Na2) LAY M3 VANTI RIVY IPIINY 1IINT ©TY 19V 92
And how much more so should this be true by two 2%ty who are more
powerful than an individual mY, as the X states in n»w °» po; they

certainly should be able to discredit the 9uww. These 0>y have a wa. Therefore
even though they agree it is not 517, nevertheless they should be believed that
117727 17 RyT\TIRR with the 1 that they could have claimed that it a f» 0w,

In summation the question is: 12 Why when a m? claims *ny19 he is believed (even though
the mM%n is in possession of the 7vw), because he has a W»; and why are the 07y, who
claim 11°727 1°7 RyTn\TIAR, not believed, even though they also have a 1an.

Mo0IN answers:
= 19515 9935 N2 YOYNY DITIN) TININ NYTINT RNDYL 139107 PHY 1139 XM

And the >''% answered that this is the reason why the >7v are not believed
to claim 1°727 117 XYTM; since the 0’7V admit that the "vY was written

and delivered (to [the m>n or] the buyer) properly" —
- 3103 99598 NYOWY ¥917Y N YY NN XY 1Y

An oral declaration cannot subsequently come and discredit the =ww
even if this declaration is substantiated through a .

mooIn anticipates a difficulty with this concept of XRWw? ¥m 5"Y °nR XY, and justifies it:
= PNINNT DNVPY DIVNINY T XD

And this case of 11127 1°7 X¥7 is not comparable to the cases of our 7w

'" The x7n3 there states that it is possible that a m> is not believed to claim 717 W2 Y115 however o7y
who are *9v m9R are believed to discredit the "vw (by claiming 2°wp1 °01K) with a W of 7. See
previous Xnyv 7"7 X,0> MoOIN where NMdOIN cites 371 "M (in 3,73p 2"2) who maintains that 2>7¥ are believed
with a 13 and the M7 is not believed with a 1.

12 See 7" w "7 who maintains that n®0IN question is from the 711wn which states that 0101 2°01IKR are
0°1MR3; why are 71X RYTIn any different? N19010 mentions 77117 1322 ¥179, merely to forewarn that 1" is of
the opinion that 1°°p% 7°1¥ 1205w wwa 777 and a W is effective.

13 See footnote # 17.

" The w"x77 '010 adds that it is similar to 2731 217

3

TosfosInEnglish.com



1" R 7"7 '01 2,00 M2 .7"'02

which states that the 07V are believed if they claimed 11°°77 2°0uR or 2%uvp

117, if R"pnn k¥ "nd PR. Seemingly there too we should apply this rule of 5"y *nk X7
ROW? yIn.

mooIn now explains the difference between these cases:
= )2 195D TN IMN PIMU RIX YD 9Wd 90V NNV 01N PRY

For there, in the 71wn, the 2>7Y do not admit that there ever was a 2w v
at all, but rather the 0°7v contradict the uw. A 0w which is signed by
Q°10p or 201X is no WY at all! Therefore the 07V are believed that they

were 0°10pP) 0°01IR with a % that they did not have to be o*pn the 0w —

= 90V NNY DITIN DN 9IY RIVYY Y9191 N DY INN NOT 991D IND 99Y NH1
For it is not applicable to say here in this case that ‘an oral declaration
cannot come and discredit a "vw’, for the 2>7v do not admit that there
was a Ww. The difference between 2°01XY 2°1vp (where the 2°7v are believed) and
Xy (where the 07y are not believed), is that by Xy7 the o7y testify that the “vw was
executed properly; however they claim that there was an issue which disqualifies the
transaction described in the 7vw. In such a case the rule is that X0w? vy 9"y "NX XY,
even if there is a 1W» to substantiate the claim." In the cases of 201K o°vp, however, the
o7y are stating that there never was a (proper) W since they were 2°01X) ovaup; '
therefore there is no 9"y that is X7vW? ¥, for there is no w. The 2>7v are believed since
they have a an.

mooIN goes on to explain why by 11°727 177 7K they are also not believed:
= NIOWY 2991 NDT 1903 299 23195019 NDT RNYL 1399107 NI 19 NINNY

And concerning the claim of 7R it also appears that this is the reason
that the 7Y are not believed, according to 1'% for the 07V are not
empowered to discredit the "uw —

- 95 Ny 119 2093 F0UNY 0ITINY HININ

' Once the o>7y testify that ;i1 X171 *"n3, there is a w2 TVW. A WD W is presumed not to be a TAR\RYTM
(otherwise there can never be a w). The 07y cannot void a written 7w> 7ww through their oral testimony.
[In addition, other commentaries (see footnote # 14) maintain that they are 2>7¥ >11.] The explanation
of Ruw? ¥y 5"y °nNR X2, may be dependent on the meaning of 0°1X1 (whether the 0w is 9109, or there is no
arp). See "1 7"7 2,1 Moo footnote # 1. See T2°K1 257 MR D117 MIdWn. A simple explanation may be
that once there is a valid written 7uw the 231 enacted this rule to protect the integrity of the Tvw; that it
cannot be voided by a (contradictory) oral declaration. See ‘Thinking it over’ # 2.
'® A ~uw, which 2°01K) 2"30p sign, is a Mo without 07v; which is no Jow at all.
' Previously (footnote # 13) when Mmoo was discussing a XyTn, the expression was WWIw D77 XA
159775 1onN and1; however Moo did not say it was 7127 Ny, since they claim there was a Xy7n. See
‘Thinking it over’ # 1.
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since the 0°7v admit that the "vw was properly written with the consent

of the borrower. msoin maintains that according to 1", the claims of both 1771 X712
1727 and 11127 177 79K are not believed on account of XVW? >y 5"V DR K.

mMooIN anticipates that one can challenge this assumption that the reason for 71X RyT1 is
the same. Perhaps the reason for 71X is different than Xy7. The reason why 712X is not
believed may be as WX 27 92 7» stated, that 73X is 2037 1n°1 XY; it was never permitted to
be written. A 71X W is an illegal document. It is MOX for 7Y to sign on such a
document. When the 2°7¥ say 0°727 177 7K there are declaring themselves 2°ywa. The
rule is that Y1 My oown 07X PR.'® This is the reason why X is not believed according
to "WX 27 72 7. MOHOIN maintains that according to 1" this is not the reason for 714X,

= YYN 249 93 91 NIN ANaY 1523 YT DIVN NINNRT NNYL W90 NI

For the X723 did not universally explain that the reason %X is not
believed is on account that it is not allowed to be written; this reason

does not apply to all the opinions but rather this explanation expresses the

view of WK 29 92 9% only —
- Pmyw 019w XYTINY N3N DL 9N 299 Yax

However, according to 1''1 the reason for disbelieving the 27V in the cases
of RY7IAY MmN are the same in both; namely that x70w5 ym1 5"y >nR X5,

There still remains the original question of why an individual is believed to claim >ny19
A™1a7 A2 (even though RvwH ¥ 9"y °nX XY), and 0°7Y are not believed to claim 732K
Xy7Im1 with the 17 of not being 0>°pn the 70UWw. MdoIN addresses this issue:

= 9197 N2 NI P99 91D JINIT 1IN 29D MY NONT XM

And regarding that which 1''7 maintains that the 77 is believed to claim
the loan was paid, with the 1a% that he could have claimed that the 70w was
forged; seemingly it is case of X0w" ¥ 5"y NX —

ND0IN answers:
-2yaaa 0 7a90 995 8IVWY ¥ &Y 2Oy onn
There too (by 7117 1»2 ¥119), the M7 is not discrediting the =vw at all!

' See 1171 Xy T 77 >"wA. See footnote # 24 why moown prefers that 1" and “wx 21 disagree.

"It is apparent from the syntax of the X3 that according to 1" there is no difference between 7y 7% and 7K.
%% The term a1 is to be understood that just as by °01K they are not ¥» the Tuw (since there was no 0w to
begin with), so too by ¥175 there is no Jvw? yn (since the 7w remains a valid [paid up] vw).

! A 7w is issued with the intent that it will eventually be paid up. The claim of >Ny is not against the oW
per se; but rather it is against the claim of *¥2 °Xn >7°2 77vw. The 1n of 711 is sufficient to support the
claim of "ny75 against the claim of 13172 T0W.
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Therefore the m> is believed to claim ¥175 when he has the 3% of 5™ m. The
MY agrees that it is a proper Tw. He simply claims that he paid up (and did not retrieve
the VW in lieu of his payment).

In summation: When a claim is X0w? v, it discredits a vw; the rule is that 2"y >nX XY
X0w? v Therefore in the cases of RyTia1 m3aRk, where there is a valid qww (even)
according to the 07y, and the 27 are being ¥ this "vw, they are not believed even with
a M. In cases where there is no 20w or where there is no discrediting of a "vw, a WA is
effective to be believed. Therefore in the cases of 221021 0°01IR where there is no W, the
o7y are believed with a 1. In the case of ¥195 (there is a 70w, however) there is no ¥ n
X70WY; no one is denying the validity of the quw, therefore the M7 is believed with a wn».
- 299x5 9294 13299 )N 29 DY INN)
And 1'% can properly follow the opinion of the 1139 who argue with »''9
and maintain that by 0°10p1 2°01R (as well as 717 122 ¥1719) they are believed (with a
1), since they are not XW? ¥, however by Xy 73R (where they are X0wH ¥7n),
they are not believed.
- PN 1981 DT RIN NN TOYT :ow n1 oy DY 3BT XN NINM)
And concerning that Xn»=92 in n»w % P79 which states that if the 20m
claimed that this is a 71K LW where the ruling is that he is not believed —
$991 99399 NY P 1IN 29 VINMI 395 MIPIY SvaY
which the X713 there wanted to establish that it follows the opinion of »''s;
1'% maintains that the ruling of the Xn>72 is according to all opinions,
including the 1127 (for X0w» ¥ 5"y *nX &),

SUMMARY

According to 1":

0°7y who claim 11°727 v 73aR\RVTIA are not believed since ¥7m1 9"y "nR XY
RIVWH.

7Y who claim 1277 2°3vp1 2°01K are believed (if X"pnn XYY °"nd PR), since
there is no valid 7w for they claim 1177 D°1VP) D°0NIR.

A ™% who claims 119 is believed 5°177 132 for he is not XwwH ¥In, since

** See ‘Thinking it over’ # 5.

2 The case there (2,737) is where the 797 claims it was a 7y77 0w, Nevertheless the proof from 0*7v to the
case of 191 is certainly valid. If the 0>79 cannot be XvWw? ¥n, certainly the 127 Hv2 cannot be X0w? yn.

* It would seem that if the reason that 0>y are not believed to claim 71X is because an3» 1M1 XY, then the
2 himself should be believed to claim 7117 132 7anK; the 712 himself did not do any 721v. However if the
reason that 0”7y are not believed to claim 712X is because X0wWS yIm 2"y *nR X, then the same rule would
apply to the m?% as well. This may be one of the reasons Mo insists that according to 1" the reason of
TINK is because X0W? ¥ 9"V "R K2, See “Thinking it over’ # 4.
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he admits that it is a valid "vw.

THINKING IT OVER

1. modIn claims that by Xy71n the 0*7¥ are not believed, since ¥ 5"Y °nR R
x7uw.” Seemingly in the case of Xy there is (also) no oW at all. A “ow
must be written with the consent of the 2»nnn (the one who is being
obligated by the q0w). In the case of Xy71 there is no consent on behalf of
the 2°nnn (the MY or the 121n) for they are being coerced. The 0>7v should
therefore be believed!*

2. What would be the ruling if other o°7v testified that it was a W
TIR\RYTIA (either when X"pnn XYY "Nd or R"prn KX 2"n3 1Pr)?%

3. What can 0’7V do to protect the 71212 if he claims he is being coerced into

this sale??®

4. Why is moon adamant that the reason of 71X is on account of 5"¥ °nX K
91 and not because of 20> 1071 KH?%

5. m1oIn writes that since 1" distinguishes between 7v71M) 71AX and 2°01IX
¥1791, we can say that 1"7 agrees with the n"97 7127, Seemingly we must say
that 1" agrees with the »"97 7321 regardless, since 1" ruled that the 0w Hva
must be 0°°pn the W before the n'">7 (for M°°PH 777X 1205w W2 .'i'r173)!30

3 See footnote # 17.

% See 2"y MX 7"0.

7 See footnote # 15.

% See x,un AT 2"2.

¥ See footnote # 24.

% See »"19 and 7"w 0" .
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